9. AABC is right angled at C. If
AD =29cm, BD =1 cm and
CD = 13 cm, find the area of

the ABCD.
13 * ABC # §d € 9 §HFIOT
@‘5 @ ¥ I AD=29cm, BD =
1cm 3 €D =13 cm % ar
ABCD &T &A% Sd13U]
% CED a)4cm§ ;f6cm22
c)8cm c)10cm

= 7X7.>x\1 g
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20. In the given figure, ABC is a right

v

angle triangle at B, D is a point on
AC such that DC=11,AD =
31and BD = 17, find the area of
shaded region?

ﬁ'tfmrﬁrarﬁr ABC U&H HH®IUT

8Y %1) -42Y a) 84 cm? b) 96.8 cm?

A92.4 cm? d) 88 cm?




A A 2. In AABC, AB = AC, 2CAD = 90°

/«\ ,BD =18 cm and CD = 30 cm.
0 A‘ Find area of AABD?
W AABC & AB = AC, +CAD =

90°, BD =18 9#Y 3R D =
308HT, AABD &1 &9%e AT

a) 90cm? /8(108cm2

e c) 144cm? d) 96cm?




22.1In the given figure, the areas
(in square units) of some
triangles are indicated. Based
on the data, find the area of
quadrilateral BDFE.
R v Ay & Fo feE &
8T%d (T sHFE A) gl T
g 39 JEeRl & IUR W,

(@ T3S BDFE HT 81Ael aellv.

a)3 b) 4
A7 d) 14




23, In the given figure, the

areas (in square units)
of some triangles are
indicated. Based on the
data find the area of
guadrilateral BDFE.
v o Ay # o Mg
F AA%d (3 sHE )
T v & SH I
& YR YT IJST BDFE
FT ST T,

c@a)36 i 68

c)32 d) 108




24. In the given figure, the areas
(in square units) of some
triangles are indicated. Based
on the data find the ratio of
the area AAOE and AFOC.
fer 7 R # Fo el &
TP (97 SHS A) AT T §.
3 AR & YR W AAOE
3 AFOC F &% FT [T

CGILE
21 b) 3: 2
c)1:2 d)2:3




Ratio of areas of the triangles:

ABBC [/ «5% 6% GinkO

T4 _])Z/YWE’:( $in30

¢
o s
30°
7 cm K
area AABC 5

area ABCD




Find the area of the asked triangles:




[.In AABC, points D, E and F

A divide sides AB, AC and BC

respectively in ratios 3:2, 5:2

A and 1:1 . If area of

o AEFC =20 cm? then the area
2="of ADEF is

AMBC # &g b, E 3R F

seat A, AC 3 BC W

SHA: 3:2, 5:2 3T 1.1 F

Rrenfora #4 8. 39 AEF

)

Sx 2 HT &A%d 20cm? T ar
I ADEF &T 819%e §dIsU.
z& k)zs b) 32
x7] 7 ¢) 40 A 68
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2:In the given figure, PQR is a
triangle and quadilateral ABCD is
inscribed in it. If QD=
2cm,QC =5cm,CR =
3cm,BR = 4cm, PB = 6cm, PA =
5c¢m and AD= 3 cm What is the area
(in cm?) of the quadilateral
ABCD?

& aw Ity A, PQR wEH e @
qUT TGS ABCD SWR fha AT
Iaqr %l QD =2cm, QC =5cm, CR =

3cm, BR = 4cm, PB = 6cm, PA =
S5cm d9T AD = 3 cm §, a?raﬁ% ABCD

FT TP (cm? H) F41 3

23v21 1521
a)—, b) =
/’ 17v/21 d) 23v/21

5 | CGL 2017 T2 | 5 11



%. In the given figure, if AD = 3,DE =
4,AB =12,BF = 2,FG = 6, BC =

10 then the value of% is: (If M is the

area of the quadrilateral FGDE and N
is the area of the triangle ABC.)

& ¥ amgpfa # I AD=
3,DE = 4,AB = 12,BF = 2,FG =
6, BC=10 &, © &1 A §: (A
M TS FGDE &I &1 F%d & IR N
fs[sT ABC FT &G B)

51 b) L

60 2

25 1

| CHSL 2019 | 12



Y.In the given figure, in triangle
STU, ST=8cm, TU=9cm
and SU=12cm, QU =
24 cm, SR =32 cm and PT =
27 cm. What is the ratio of the
area of triangle PQU and area
of triangle PTR?

& og arpfa F Beger sTU A
ST =8cm, TU =9cm a4gr
SU=12cm & QU =24cm,
SR=32cm dUT PT =27cm
¢ Besr PQU & &Ewe aur
ﬁraﬁr PTR & QFAGA & &7

a)1:1 b)1:4

A9 d)5:2
| | 13
CGL 2017 T-2




Figures between same parallel lines:

oA ABY= VU ABY= AR AR Decn g







If ABCD is a parallelogram, find the ratio of area of triangles asked:

LK [ F

") bax ga,w\?-
ar ABE _ 21 ar ABF ar AEC >

ar ADE ™~ 1 x| | ar ABE > ar EBF |

-
-~

D e
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